# Vertical Division with a Helper Grid Name:
Solve each problem. Answers

1) 2) 3)

3[2/6/1 6[3/3/4 1[6/6/3 t

4) 5) 6)

4|300 5|202 4|443 8.

7) 8) 9)

9|104 8|352 4|151
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1 87 2) 55 3 663
1 87
3[2/6/1 6(3/3/4 116 63
2|4 319 6 2 5514
211 34 06
21 30 _6 3. 663
0 4 03
3 4 75
0
5. 40r2
6. 110r3
4) 7/5 5) 410 6 [1]1]0r3 L
413/0 0 5[2/0 2 4l4l4 3 o 44
28 20 44
210 0 0 9 37r3
20
0
7) 1/1r5 8) 4|4 9 37r3
9[1/0/4 83|52 4(151
9 32 12
1|4 32 31
o 32 28
5 0 3
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